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=
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101 1A dl

= N H
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= W
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01 A€ dI
O AU MEsE LN
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03 A& 2 THHI
O 2UR HAESE 2HM(0.9%)
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= N H
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923
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66,646
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e

et
0F
%
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R
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312,989
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SA - BB B () - MM - BES Ol &t o e
= 137,811
= 23,247
Al 51,931
201 LBt2d| 76,171 76,171
= 39,522
< 10,701
Al 25,948
01 At 22l 47,315 47,315
O Ler==&H| 12,665
o MEHEHME WEZME 248 25 2
633,250 * 5= » 43 12,665
= 5,844
< 1,753
Al 5,068
O gxz 34,650
o MBHEMNS HELYHME 2F I LI
770,000& = 504 » 93 34,650
= 19,250
< 4,620
Al 10,780
02 =224l 28,856 28,856
O AM&&BIS X 14,400
o MEHWNE FMEHE HH =X
160,000& = 1804 = 53l 14,400
= 7,200
< 2,160
Al 5,040
O Xg - Moty 14,456
o dEHE MZFEHYE U 7TFHI
1,551& = 2334 =« 504 » 8& 14,456
= 7,228
< 2,168
Al 5,060
202 o4dl 2,000 2,000
= 2,000
01 = LH o4 1l 2,000 2,000
O utgdasuELME XNE 2=
20,0003 = 2% = 5 « 103 2,000
= 2,000
206 M= Hl 70,878 70,878
= 53,335
< 3,610
Al 13,933
01 =8l 70,878 70,878
O dEdols 2HME A 70,878
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= 12,035
S 3,610
Al 8,425
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01 A& HI 63,365 162,465 A 99,100
O d&Yols &M 63,940,000& * 99.10/100 63,365
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O == &Hl
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o
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=z
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M- B8 a2 (3) - HEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Al 22,980
301 LEtE A= 31,658 31,658 0
= 8,678
Al 22,980
08 MBI EXRRIBAZ 31,658 31,658 0
O =AMl 6,000€ *~ 129 x 202 * 12€ 17,280
O 1Il=4| 3,120
o EXE8 80,000& = 12 960
o o 5 80,0008 = 12 960
o ddts 100,000 * 12H 1,200
O MEXNS S o Xt Xl 2 I
100,000& = 10H¥ 1,000
O AMI=ERRE HEHHA 828 2
100,000& = 5= 500
O KMEXS 2 MIERLRIE MSUI
20,000 x 129 « 23| 480
O 0t2F MHEXE &= WS
10,000& » 12% « 53| 600
O AMNSER3 oA 8,678,000& = 1A 8,678
= 8,678
ZE=X2Z22UAXEMH(2ELXNIHEY/ANAL A 3,365,648 1,778,836 1,586,812
Xl 580,000
J| 480,000
o= 178,300
Al 2,127,348
&2 e 3,365,648 1,778,836 1,586,812
N 580,000
J| 480,000
o= 178,300
Al 2,127,348
Az ZEOI2 %) 700,000 300,000 400,000
N 350,000
Al 350,000
401 Al HI L 2 0HHI 700,000 300,000 400,000
Xl 350,000
Al 350,000
01 Al & H| 695,590 297,840 397,750
O g =4 700,000,000& * 99.37/100 695,590
Xl 350,000
Al 345,590
03 AlE 201 Y| 4,410 2,160 2,250
O W2 =24 700,000,000& * 0.63/100 4,410
TAE EH(HE JI22) 200,000 0 200,000
Xl 100,000
Al 100,000
401 Al HI L £ 0HHI 200,000 0 200,000
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
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01 Al&H| 198,560 0 198,560
O ¥E K242 =4
200,000,000€ * 99.28/100 198,560
N 100,000
Al 98,560
03 AlE 20| 1,440 0 1,440
O 8 242 =4
200,000,000& * 0.72/100 1,440
TAE DA (sSMNXIE) 200,000 200,000 0
Xl 100,000
Al 100,000
401 AlEHIZL £ 0HY| 200,000 200,000 0
Xl 100,000
Al 100,000
01 Al&H| 198,560 198, 560 0
O SMMaT = X4
200,000,000€ * 99.28/100 198,560
N 100,000
Al 98,560
03 AlE 21| 1,440 1,440 0
O SMMX = X4
200,000,000& * 0.72/100 1,440
hEs XM - BEAY 817,744 789,415 28,329
& 8,000
Al 809,744
101 Q1A ] 187,284 142,316 44,968
04 JI2ZtHIZ22NEE S 187,284 142,316 44,968
O Jt24 Y JI23tE 22| o8 111,418
o X&HEZ 135,110 * 5% * 10 * 53] 33,778
o HEQE 51,760 * 108 » 30¥ * 53| 77,640
O =25 2 :FEzH 28 MAHEY o2
38,017
o SYoE 115,270 * 5% x 122 * 43| 27,665
o HEQEY 51,760& * 5% * 102 * 43| 10,352
O AJMXR &E28 JI24 AMA EH 2|
115,272& « 10¥ = 42 x 43| 18,444
O oM Ji24 & XHS SREY 012 4,672
o X&EZ 135,110 » 5 x 5 3,378
o BEQEY 51,760& x 5&H x 5L 1,294
O MIEBES 14,733,000& = 1A 14,733
201 et | 34,650 27,809 6,841
01 AR 22l ] 22,350 16,350 6,000
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M REsXBUES(RELNSNL/AALEAN
el Jt2Ed x4d2e|
M- B8-S (3H) - HRAY - BES il
O 2d+¢ 1,600
o J24 NS BH 29
100,000& = 8H =« 23| 1,600
O gxz 20,750
o Mol Oloi Jt=2+ HHIAY FHdl & 1,400
- 3dlel 500,000& = 13l 500
- =4 450,000& = 23| 900
o JtZ2= Y J2SHE 2el HYXE LR
1,000,000& = 12&8 12,000
o JIZ2= Y JIZSIE 2| R &R
2 Xt 1,000,000& = 63 6,000
o TA=(YHA) ofd THol=72& ZolY
Xt 1,350
- 24| 450,000& = 33 1,350
02 =224l 12,300 11,459
O AM&&HIS X 7,872
o S 6,840
- =4l 100,000& » 10CH 1,000
- SSU(ALSR) 1,4408 = 3500 » 10CH 5,040
- 2g s 23 7¢ 100,000& * 8& 800
o 2= g 7A2el 1,032
- =&l 600,000& = 1CH = 13 600
- 2RU(HELSR) 1,440 * 3004 432
O 2+ ¥ JIZ2stH 2e| HYXE FJHl
1,230& = 2004 = 123 2,952
O 2=+ % JiZ2std 2| 98 =& &
Fol 1,230& = 200{ » 63 1,476
202 04l 1,360 1,360
01 = LHA YI 1,360 1,360
O JtZ2=s2c g2F2 1=
85,000& = 43 =« 43| 1,360
206 M= Hl 24,360 24,360
01 =8l 24,360 24,360
O 2=, 2& HE L HHSUHM <HP
o 21,360
o XZE LEEEHEZ 27,0002 400 10,800
o 2AHTY(3F) 26,400 * 2008 = 23] 10,560
O B3Il & =278 MM #&
10,000& * 300= 3,000
301 et A= 1,000 1,000
11IIEtEA S 1,000 1,000
O 2= 3&E AR B4 50,0008 * 202 1,000
401 A& HI LSO HI 569,090 592,570
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O EA= ¢ JI248 &sd dols2H
400,0008 = 50ha 20,000
& 8,000
Al 12,000
O J2+s 3F (=)
100,000 * 1,0002 = 99.10/100 99,100
O izt &8 H 30,000,000 = 98.92/100 29,676
O ZIMde 24 2 Ji2ste A
2,330 * 30,000m = 99.10/100 69,271
O EAaX ¥ 2E17s 6 =" st Hy|
2 7409 * 43,500m * 99.28/100 118,332
O =22t 2A(=2H 5)
50,000,000 = 98.92/100 49,460
O Jtgs A&l S &4l
30,000,000 = 98.92/100 29,676
O Jt24 L JI2SC o=
50,000,0003 * 98.92/100 49,460
O Jt24 HUl($=Al)
100,000,000 = 99.10/100 99,100
03 Al 201 Y| 5,015 5,325 A 310
O J24s 8 (=)
100,000 = 1,000 = 0.9/100 900
O Jt2stet &8 H 30,000,000& = 1.08/100 324
O ZOIatetl D24 2 Jt=23e A H](0.90%)
629,000 * 14l 629
O TAX & 21756 =9 stet HH|(0.72%
) 858,000 * 14! 858
O 22U BA(&EHS)
50,000,000& = 1.08/100 540
O Jt24 A4l S Fl
30,000,000& = 1.08/100 324
O J24 & JI235E Ol
50,000,000; 1.08/100 540
O Jt2% JHI(£=Al)
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=X € NE2E d2 X422 414,304 207,421 206,883
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Al 414,004
101 Q124 4| 26,204 19,389 6,815
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O Mol A= MA EHHl X
450,000& = 83l 3,600
202 Odl 3,500 3,500 0
01 = LH 4 Hi 3,500 3,500 0
O SAssize #& o
20,000& = 5% * 5& » 43 2,000
O ZAI=SSHAIS R H&X AS
50,000& = 59 = 3 « 23| 1,500
206 M= Hl 6,500 6,500 0
= 300
Al 6,200
01 M= 4l 6,500 6,500 0
O ZA=SAIL XL BHSIol S =272 UM
-+ 10,000& * 500X 5,000
O uctZ 233 84 & 22
1,500,000& * 14 1,500
< 300
Al 1,200
301 et A3z 7,500 7,500 0
1MIIEESS 7,500 7,500 0
Oz -=X&e s A3 HYsS ztel 1
of 24 500,000& = 153 7,500
401 AIEHI L 20 367,000 162,000 205,000
01 A& Bl 363,382 160,488 202,894
O &E28 IFelE =35t
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O L® mhet EA4 & wiH
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25,000,000& * 23| * 1.08/100 540
O =Xt =5 XNF=s ALY
15,000,000 = 1.08/100 162
O ns 128 Ot &€H =4
30,000,000 = 1J#<4 = 1.08/100 324
=%9 MY OI8U2 = ¢S 343,600 92,000 251,600
< 170,000
Al 173,600
201 £B-2dH| 3,600 2,000 1,600
01 At 22l 3,600 2,000 1,600
O =9 dg =520 22 M 7
10,000& * 200X 2,000
O 2g=¢ 1,600
o £29 Ty oY HAH g
100,000& = 8Y « 23] 1,600
401 Al HIZ 2018 340,000 90,000 250,000
= 170,000
Al 170,000
01 A& HI 336,796 89,028 247,768
O 2otdl)d =¥ s &4
50,000,000& * 1JH4 = 98.92/100 49,460
< 25,000
Al 24,460
OGisAATSA BRE T4
30,000,000& = 1JH4 = 98.92/100 29,676
= 15,000
Al 14,676
O JhAtel dMEfls =4
100,000,000& = 1JH4 * 99.1/100 99,100
< 50,000
Al 49,100
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& Jt2EE 42 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O 25y MESIA HBH= =4
60,000,000& * 1JH4 = 99.1/100 59,460
= 30,000
Al 29,460
O 0% ot 8xls =4
100,000,000 * 1JH4 = 99.1/100 99,100
< 50,000
Al 49,100
03 A& S THHI 3,204 972 2,232
O 2otdl)d =8 s &4
50,000,000& * 1JH4 = 1.08/100 540
OGi+AATS BRE T4
30,000,000 * 1JH4 = 1.08/100 324
O JhAtel dEls &4
100,000,000& = 1JH 4 * 0.9/100 900
O 25y MEGIA HEH= =4
60,000,000 * 1JH4 = 0.9/100 540
O 0% ot 8xls =4
100,000,000& = 1JH 4 * 0.9/100 900
SAlE ZH(Ha=) 60,000 60,000 0
X 30,000
Al 30,000
401 Al HI K 201 I 60,000 60,000 0
Xl 30,000
Al 30,000
01 A& HI 59,460 59,460 0
O g4a= x4
60,000,000& = 1J#w = 99.10/100 59,460
X 30,000
Al 29,460
03 Al 2 THHI 540 540 0
O ga= x4
60,000,000& * 1J# = 0.90/100 540
=SMET Sl 630,000 130,000 500,000
J| 480,000
Al 150,000
401 Al HI K 201 I 630,000 130,000 500,000
J| 480,000
Al 150,000
01 A& Bl 625,464 129,064 496,400
O EXA4E Us=s =4
130,000,000 * 1JH4 * 99.28/100 129,064
J| 129,064
O f&¥MUsZE =4
500,000,000& * 1J#4 = 99.28/100 496,400
J| 350,000
Al 146,400
03 Al 2 THHI 4,536 936 3,600
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